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pd1->year = 2018;
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(structpointer.c)
#include <stdio.h>
struct lecture {
char name[20]; YYRAEN
int type;//&&t== 0. 1, 1: EEUE, 2. g, 3 Ha4H
int credit; ycigs
int hours; ANES

3

typedef struct lecture lecture;

Char *head[] — { ||70|-£|_DO:|||, ||70|-£|___I_|__IE_||’ n'é;l_xlz-llnl llAl_JI\_n :
Char *lectype[] — { nﬂ%l:n’ "OEIH|_|-A|_ EﬁHn’ "Xd_g_-l_él_)[\_", ||I_-|_g_tE_|l-|u }’
[2 1]
<M 3J 32, E2IHAI|: 8
A5y LI HEF AL
3 MH HEE=s 3 3
CEZ=z1de HSHH 3 4
C HZHH 3 4
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(structpointer.c)

int main(void) {
lecture os = { "2BAA", 2, 3,3 };
lecture c = {"CEZZ2jU" 3,3, 4}
lecture *p = &o0s;
printf(" 2K 7|: %d, ZLIE{A7|: %dWn#n", sizeof(os), sizeof(p));
printf("%10s %12s %6s %6s#n", head[0], head[1], head[2], head[3]);
printf("%12s %10s %5d %5dWn",
p->name, lectype[p->type], p->credit, p->hours);
p = &¢ -> GIARHE }
printf("%12s %10s %5d %5d¥#n", (*). HLbRreE 25!
(*p).name, lectype[(*p).type], (*p).credit, (*p).hours);
printf("%12c %10s %5d %5d¥n",
*c.name, lectypel[c.type], c.credit, c.hours);

return O; (247
} 2EH 31 82, EOIETII: 8 -
AHY  PXIPE BE A
[eNeo-EKJIEull Td ) T AL N N
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(unionpointer

M} ALS

.C)

#include <stdio.h>
iInt main(void) {
union data {
char ch;
Int cnt;
double real;

¥
typedef union data udata;
udata value, *p;

[Z2 ]
aa
100 3.14

p = &value;

p->ch = 'a’;

printf("%c %c#n", p->ch, (*
p->cnt = 100;

printf("%d ", p->cnt);
p->real = 3.14;

printf("%.2f Wn", p->real);
return O;

p).ch);
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(structarray.c)
#include <stdio.h>
struct lecture {
char name[20]; //BEH
int type; [/ BZET =
int credit; /et
int hours; // A=

3

typedef struct lecture lecture;

char *lectypel] = { "W, "YLHMEL" M DL HTME )
Char *head[] — { "%I-}—l-%:l", ||7|-£|___|_|__II$|__||I ||—§I|.II:-I|||I ||A|_JI\_|| },
[Z 1]
BHE3D[: 5
eTER! A7 BE AL
QIZHIL ALS w 2F 2 2
JHSE eHdE 3 3
gzt d3ES 3 3
OHIoITI = o0l &NDIlA Q 1
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(structarray.c)

int main(void) {
lecture course[] = { {"@I 7t AtZ|" 0, 2, 2 },
("HHEIHE" 1, 3,3, [%xﬂ H{o| x7|7}t: SLUSE SHBI0] AL
x

{"KIRHXR" 2, 3,3},

("QHYIZZ " 2 3, 4,
("I cz2aejd" 3,3, 4} )
int arysize = sizeof(course) / sizeof(course[0]);

L& S&% iS22 F2H|

printf("HY € 32 7|: %d¥Wn#n", arysize);
printf("%12s  %12s %6s %6sWn", head[0], head[1], head[2], head[3]);
printf('=========================================Wn");
for (inti = 0; i < arysize; i++)

printf("%16s %10s %5d %5dWn", course[i].name,

lectype[courseli].type], courseli].credit, courseli].hours);
return 0; [[] LARLEM Y AA0l TEHE RS 2 ]

CQMRPEMN FEN BB H2.
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call by value, call by reference
& zZH0]l 2|8t S=(call by value)

o C 2i0{9] 7|2 &0l QIX} FE A
e g+ S= A| AlOIXIC| 710 HAIOIXIO| SAIE|2=
et LHOJIA] SHAI0IXIE £=Holl= &I2IX0fl= Hek
0] 21S.
& EX0 o|st &= (call by reference)
o EOIEIS DYJiHZAE ALR5IH AloIxje} HAlOIx}
IF LS TAE 2 Elof BFe] HatEl ks 2w
= T }A%-



Call by value A=

(callbyvalue.c)
#include <stdio.h>
void increase(int origin, int increment); 12 1h
10

int main(void) {
int amount = 10;
//amount?} 20 S7t6HX| E S
increase(amount, 20);
printf("%d¥n", amount);

return O; amount& M 2 origin 4{& T
X2 amountOll= F&0| IS

}

void increase(int origin, int increment) {
origin += increment;

}




=

Call by reference A=

(callbyreference.c)
#include <stdio.h>
void increase(int *origin, int increment); (2 1H
30

int main(void) {
iInt amount = 10;
increase( &amount, 20 );

printf("%d¥n", amount);

return O; BTE LS U
' > BH LI =AS 7HR A
} > BBl 0| A HAS Z}

ot 1

J

void increase( int *origin, int increment) {
*origin += Iincrement;

}
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(arrayparameter.c)
#include <stdio.h>
#define ARYSIZE 5 [Z1H
double sum(double g[], int n); 23 34 45 67 9.2
int main(void) { ot 26.1

double data[] = { 2.3, 3.4, 4.5, 6.7, 9.2 };
for (inti = 0; i < ARYSIZE; i++)
printf("%5.11", datali]);
puts(™);
printf("2}: %5.1f#n", sum(data, ARYSIZE));
return O;
}
double sum( double ary[], int n) {
double total = 0.0;

. : : (H Y QA ZIS D E Héls sh2Ao )
for (inti=0;1 <n;i++) HEO:"— = )E\—.—Dio}_ 2732l
- H{EO0|E2 FA0|EE call by reference

total += aryli];
return total:

- HEA+E HEol AXtE MYl
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(arrayparam.c)

#include <stdio.h>
int sumary(int *ary, int SIZE); //int sumary(int ary[], int SIZE)= 7}=
int main(void) {

int point[] = { 95, 88, 76, 54, 85, 33, 65, 78, 99, 82 },

int aryLength = sizeof(point) / sizeof(int);

int *address = point;

Int sum = 0; .
for (inti = 0; i < aryLength; i1++ //sum += *(point++); //er%”g
sum += *(point + i); //sum += *(address++); //7tS

printf("T| 210 M Lot 2F2 %dWn", sum);
printf("&=sumary() 2 5t 2H2 %dwn", sumary(point, aryLength));

=2
printf("&Fsumary() LE 2 2 &2 %dwn", sumary(&point[0], aryLengtt
printf("&Fsumary() LEE 7oF &2 %dWn", sumary(address, aryLength))
return O; (2 1H
J O QIO A ok ©F2 755

2sumary() 2EE 7o g2 755

2sumary() 2EE 78 g2 755

SEA N ==X 5L B3SEO 7
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(arrayparam.c)

Int sumary(int *ary, int SIZE)
{

\[-

Int sumary(int ary[], int SIZE)

|

L

Int sum = 0;
for (inti = 0;i < SIZE; i++) {

//sum += arylil;
//sum += *(@ary + I);
sum += *ary++;

[47w7r 2F

7! ]

//sum += *(ary++);

}

return sum;

[Z1H

H 210l A 72k &2 755
2sumary() EE 1o g2 755
2 sumary() 2EE 1ot g2 755
2sumary() 2EE 1o g2 755
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o A A= 5740 | (= LEoIN .
H“E=I &I—t T 7'“*!—'. 1/2 data[O] B
(arrayfunction.c) data[1] = 3
#define _CRT_SECURE_NO_WARNINGS g:z:g z ;
#include <stdio.h> data[4] = 9
void readarray(double[], int);
void printarray(double[], int); olgisl X} 7S Chemb ZH&L|C}
double sum(doublef], int) datal0] = 400 datal1] = 3.00 datz
int main(void) { A0 A LBt SHe X
double datal[5]; SOl TR s 31.000 =

int arraysize = sizeof(data) / sizeof(data[0]);
printf("& = %d7H2| 2fS & EHSHM K. Wn", arraysize);
readarray(data arraysize);

printf("Wn & ot Atz k2 Ch2 4 25 L Chwn")
printarray(data, arraysize);

printf("& =0 M Tk 22 %.3f &LICE#n", sum(data, arraysize));

return O;




g2

H QY 4L = A4F 2/2
(arrayfunction.c)

void readarray(double datal], int n) {
for(inti=0;1<n;i++){

printf("data[%d] = ", i); ,
scanf("%If", &data[i]);%—' ga;ar; ) J
}

void printarray(double data[], int n) {
for(inti=0;1 < n;i++)
printf("data[%d] = %.2If ", i, *(data + i));
printf("Wn");

}

}
double sum(double datal], int n) {

double total = 0O;

for (inti=0;1<n;i++) “(data + |
total += datali]; (da EL )
T 7ts
return total;

}
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[Z1}]
2 A= 1/2 2Xtel Hi ol Xtz Zte Ch2at Z
(twodarrayfunction.¢) | 12 xI0I0] = 1.00 xO][1]
: 22 A: x[1][0] = 7.00 x[1][1] =
# h N
include <stdio.h> 33O X200 = 400 x[21[1] =
double sum(double data[][3], int, int); AQ &2 x(3][0] = 10.00 x[3][1] =
void printarray(double data[][3], int, int); Sxhel IS QABHS 78000 QILICH

int main(void) {
double x[][3] = {{1,2,3}{7, 8 9}{4,5 6}{10, 11,12 }};

int rowsize = sizeof(x) / sizeof(x[0]);

int colsize = sizeof(x[0]) / sizeof(x[0][0]);
printf("2Xt& HIE Q| Atz gf2 T2 2= L CHwn");
printarray(x, rowsize, colsize);

printf("2XtR HIE |ATHE %.31f YL|ICEWN", sum(x, rowsize, colsize));

return O; DK H YOl B/ JaE
} O] eh=0f T E.
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(twodarrayfunction.c)

void printarray(double data[][3], int rowsize, int colsize) {
for (inti = 0;1 < rowsize; i++) {
printf("% d A" 0+ 1)
for (intj = 0; j < colsize; j++)
printf("x[%d][%d] = %5.2I1f ", i, j, data[i]l[j]);
printf("Wn");
}
printf("Wn");
}
double sum(double data[][3], int rowsize, int colsize) {
double total = O;
for (inti = 0; 1 < rowsize; i++)
for (intj = 0; j < colsize; j++)
total += datalil[jl;
return total;

}




